
AP Calculus BC Quiz Name: Block: Seat:

1. Find the definite integral∫ 3

0

x2e−x3

dx

(a) 1
3 (1 − e−27)

(b) 3(1 − e−27)

(c) (1 − e−27)

(d) − 1
3 (1 − e−27)

(e) −3(1 − e−27)

2. Find the indefinite integral∫
x3e3x

2

dx

(a) 1
9e

3x2

(3x2 − 1) + C

(b) 1
18e

3x2

(x2 − 1) + C

(c) 1
18e

3x2

(3x2 − 1) + C

(d) − 1
9e

3x2

(3x2 − 1) + C

(e) − 1
18e

3x2

(x2 − 3) + C

3. Find the indefinite integral∫
3x2

ex
dx

(a) 3(x2 − 2x + 2)e−x + C

(b) −(x2 + 2x + 2)e−x + C

(c) (x2 + 2x + 2)e−x + C

(d) −x3(x2 + 2x + 2)e−x + C

(e) −3(x2 + 2x + 2)e−x + C
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4. Find the indefinite integral∫
x5 lnx dx

(a) x6

25

[
ln(x6) − 1

]
+ C

(b) x5

36

[
ln(x5) − 1

]
+ C

(c) x4

36

[
ln(x4) − 1

]
+ C

(d) x6

36

[
ln(x6) − 1

]
+ C

(e) x6

36

[
ln(x5) − 1

]
+ C

5. Find the indefinite integral∫
6(lnx)2

x2
dx

(a)
6
(
(lnx)2 − 2 lnx + 2

)
x

+ C

(b) −
6
(
(lnx)2 + 2 lnx + 2

)
x

+ C

(c) −6
(
(lnx)2 + 2 lnx + 2

)
+ C

(d) −
6
(
2(lnx)2 + 2

)
x

+ C

(e)
6
(
2(lnx)2 + 2

)
x

+ C

6. Find the indefinite integral∫
sin2(2x) dx
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